Neal's Dining Room, 20720 HWY 127 Concan, TX 78838, **Pulled**: 03/08/2025 03:29:01 **Settings: Date Range**: 09/24/2024 - 09/30/2024 Employee: All Employees **Jobs**: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook Mary anna OC - Floor Manager Chase OC - Dishwasher Cabins OC - Cashier Contracted

QR Ordering			
ob Title	Pay Rate	Hours	Tot
C-1 ¢0.00	Total	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
1163. \$0.00	Grand Total		\$0.0
	Avg Payrate		\$0.0
SUPPORT			
ob Title	Pay Rate	Hours	Tot
Salasi ÉO OO	Total Claimed Tips	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Gratuity		\$0.0 \$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Barrineau, Thomas			
ob Title	Pay Rate	Hours	Tot
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Brock, Mary Claire			
ob Title	Pay Rate	Hours	Tot
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Coronado, Desirae			
ob Title	Pay Rate	Hours	Tot
OC - Server	\$2.35 Total	42.05 42.05	\$98.8
Sales: \$5,620.09	Total Claimed Tips	42.05	\$98.8 \$0.0
Tips: \$615.91	Gratuity		\$0.0
	Grand Total		\$714.7
	Avg Payrate		\$17.0
Padd, Payton			
ob Title	Pay Rate Total	Hours 0.00	Tot: \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Garcia, Francisco Pizano			
ob Title Contracted	Pay Rate \$14.00	Hours 37.34	Tot: \$522.7
Cabins	\$0.00	42.03	\$0.0
Cabins - OT	\$0.00	3.33	\$0.0
6 1 40 00	Total	82.69	\$522.7
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
прз. 30.00	Grand Total		\$522.7
	Avg Payrate		\$6.3
Gonzales, Belarmino			
ob Title	Pay Rate	Hours	Tot
OC - Cook	\$14.00	35.09	\$491.2
Cabins	\$0.00 Total	12.04 47.12	\$0.0 \$491.2
Sales: \$0.00	Claimed Tips	47.12	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$491.2
	Avg Payrate		\$10.4
ionzalez, Cesilio			_
ob Title Contracted	Pay Rate \$14.00	Hours 35.17	Tot \$492.3
Cabins	\$14.00	44.83	\$492.3
Contracted - OT	\$21.00	5.03	\$105.6
	Total	85.03	\$597.9
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$597.9
	Avg Payrate		\$7.0
Gonzalez, Fidel	<u> </u>		
ob Title	Pay Rate	Hours	Tot
	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0
ionzalez, Heladio			
ob Title	Pay Rate	Hours	Tot
OC - Cook	\$0.00	62.35	\$0.0
Cabins	\$0.00	17.65	\$0.0
Cabins - OT OC - Cook - OT	\$0.00 \$0.00	2.32 29.70	\$0.0 \$0.0
0C - COOK - OT	Ş0.00 Total	29.70 112.02	\$0.0 \$0.0
Sales: \$0.00	Claimed Tips	112.02	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0

Job Title		Pay Rate	Hours	Tota
	OC - Dishwasher	\$12.00 Total	38.31 38.31	\$459.70 \$459.70
	Sales: \$0.00	Claimed Tips	30.31	\$0.00
	Tips: \$0.00	Gratuity		\$0.00
		Grand Total Avg Payrate		\$459.70 \$12.00
Gonzal	ez, Jose	•		•
ob Title	,	Pay Rate	Hours	Tota
	Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
	Tips: \$0.00	Gratuity		\$0.00
		Grand Total		\$0.00
	•	Avg Payrate		\$0.00
onzalob Title	ez, Jose	Day Pata	Hours	Tota
ob Title		Pay Rate Total	Hours 0.00	Tota \$0.00
	Sales: \$0.00	Claimed Tips	0.00	\$0.00
	Tips: \$0.00	Gratuity		\$0.00
		Grand Total Avg Payrate		\$0.00 \$0.00
ionzal	ez, Maria G			•
ob Title	C2, 111a11a C	Pay Rate	e Hours	Tota
	OC - Server	\$2.35	7.01	\$16.47
	OC - Floor Manager OC - Cashier	\$0.00 \$0.00		\$0.00 \$0.00
		Tota		\$16.47
	Sales: \$3,003.60	Claimed Tips	S	\$0.00
	Tips: \$245.20	Gratuity Grand Tota		\$137.08 \$398.75
		Avg Payrate		\$24.53
onzal	ez, Maria I	<u> </u>		
ob Title	•		Hours	Tota
	OC - Cook	\$16.00	80.00	\$1,280.00
	OC - Cook - OT	\$24.00 Total 1	37.38 1 17.38	\$897.19 \$2,177.19
	Sales: \$0.00	Claimed Tips		\$2,177.15
	Tips: \$0.00	Gratuity		\$0.00
		Grand Total Avg Payrate		\$2,177.19 \$18.55
ionzal.	ez, Roberto	Avg i aylate		710.33
ob Title	ez, Roberto	Pay Rate	Hours	Tota
		Total	0.00	\$0.00
	Sales: \$0.00	Claimed Tips		\$0.00
	Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
		Avg Payrate		\$0.00
Gonzal	ez, Roberto			
ob Title	· • · · · · · · · · · · · · · · · · · ·	Pay Rate	Hours	Tota
	C-1 60.00	Total	0.00	\$0.00
	Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	ps. ye.ee	Grand Total		\$0.00
		Avg Payrate		\$0.00
	ez, Rogelio			
ob Title	Cahina	Pay Rate	Hours	Tota
	Cabins Cabins - OT	\$0.00 \$0.00	75.85 3.43	\$0.00 \$0.00
	Sa a militaria	Total	79.27	\$0.00
	Sales: \$0.00	Claimed Tips		\$0.00
	Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
		Avg Payrate		\$0.00
leard.	Madison			
ob Title		Pay Rate	Hours	Tota
	OC - Host	\$10.00 Total	30.80	\$308.04
	Sales: \$28.12	Total Claimed Tips	30.80	\$308.04 \$0.00
	Tips: \$0.00	Gratuity		\$0.00
		Grand Total		\$308.04
		Avg Payrate		\$10.00
ones,	Anna	Day Date	II seems	T .,
ob Title		Pay Rate Total	Hours 0.00	Tota \$0.00
	Sales: \$0.00	Claimed Tips	0.00	\$0.00
	Tips: \$0.00	Gratuity		\$0.00
		Grand Total Avg Payrate		\$0.00 \$0.00
ackey	-Contreras, Alaina	Avg i dyrate		Ş0.0C
ob Title	Control as, Alama	Pay Rate	Hours	Tota
	OC - Host	\$10.00	15.54	\$155.39
	Salas, CCO FO	Total	15.54	\$155.39
	Sales: \$68.58 Tips: \$8.00	Claimed Tips Gratuity		\$0.00 \$0.00
		Grand Total		\$163.39
		Avg Payrate		\$10.51
	ement, Inc., Computer Crisis			
ob Title		Pay Rate	Hours	Tota
	Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
	Tips: \$0.00	Gratuity		\$0.00
		Grand Total		\$0.00
_		Avg Payrate		\$0.00
	ement, Inc., Computer Crisis	D D .		
ob Title		Pay Rate	Hours	Tota

	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$0.0 \$0.0
Martinez, Oscar Zuniga			•
lob Title	Pay Rate	Hours	Tota
Contracte d Chase	\$0.00 \$0.00	65.09 12.77	\$0.0 \$0.0
Contracted - OT	\$0.00	0.86	\$0.0
Sales: \$0.00	Total Claimed Tips	78.72	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
NA + : 11 Cl	Avg Payrate		\$0.0
Martinez Hernandez, Claudia Zulema	Pay Rate	Hours	Tot
	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0
Medina, Diana			
l ob Title OC - Server	Pay Rate \$2.35	Hours 29.52	Tot \$69.3
oc server	Total	29.52	\$69.3
Sales: \$3,860.52	Claimed Tips		\$0.0
Tips: \$471.11	Gratuity Grand Total		\$0.0 \$540.4
	Avg Payrate		\$18.3
Morales, Elias			
lob Title	Pay Rate Total	Hours 0.00	Tot \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$0.0 \$0.0
morales, Isreal	Avg rayrate		70.0
lob Title	Pay Rate	Hours	Tot
	Total	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
1163. 40.00	Grand Total		\$0.0
	Avg Payrate		\$0.0
Rodriguez, Barbara			
OC - Server	Pay Rate \$2.35	Hours 33.84	Tot \$79.5
	Total	33.84	\$79.5
Sales: \$3,831.50 Tips: \$497.21	Claimed Tips Gratuity		\$0.0 \$0.0
11μ3. 3437.21	Grand Total		\$576.7
	Avg Payrate		\$17.0
Roosa, Chase			
lob Title	Pay Rate Total	Hours 0.00	Tot \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0
Roosa, Ellie			•
lob Title	Pay Rate	Hours	Tot
Salas, Ć0 00	Total	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Roosa, Maryanna	Day Data	Hauma	T-4
TOD TILLE	Pay Rate Total	Hours 0.00	Tot \$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0
Santleben, Madison			
lob Title	Pay Rate	Hours	Tot
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0 \$0.0
Santleben, Mary	Avg Payrate		30. 0
Santieben, Mary	Pay Rate	Hours	Tot
OC - General Manager	\$0.00	44.85	\$0.0
Salac: \$700.04	Total 44.85		\$0.0
Sales: \$780.04 Tips: \$121.08	Claimed Tips Gratuity		\$0.0 \$0.0
	Grand Total		\$121.0
	Avg Payrate		\$2.7
santleben, Mitzi	Doy Date	OTIES	.
l ob Title OC - Server		ours 2.60	Tot \$100.1
	Total 4	2.60	\$100.1
	Claimed Tips		\$0.0
Sales: \$5,776.24 Tips: \$749.52	Gratuity		\$0.0

				Avg Payr	rate		\$19.94
Schell,	Presley						
lob Title	•				Rate	Hours	Tota
					Total	0.00	\$0.0
	Sales: \$0.00			Claimed			\$0.0
	Tips: \$0.00			Grand T	tuity		\$0.0 \$0.0
				Avg Pay			\$0.0
Cilvo A	b.a			Avgiay	Tate		70.0
Silva, A Job Title	mber			Dave	Data	Hours	Tota
Job Title				Pay	rate Total	0.00	\$0.0
	Sales: \$0.00			Claimed		0.00	\$0.0
	Tips: \$0.00				tuitv		\$0.0
				Grand T	otal		\$0.0
				Avg Pay	rate		\$0.0
Smart.	Hannah						
Job Title				Pay R	Rate	Hours	Tota
	OC - Host					54.03	\$648.4
						54.03	\$648.4
	Sales: \$2,294.63	1		Claimed 1			\$0.0
	Tips: \$113.22			Grati			\$0.0
				Grand To Avg Payr			\$761.6 \$14.1
				Avg Payi	ate		Ş14.1
West, k	Kelsey				_		
Job Title	00.0				Rate	Hours	Tota
	OC - Server				\$2.35 Total	11.05 11.05	\$25.9 \$25.9
	Sales: \$1,705.2	۵		Claime		11.05	\$25.9
	Tips: \$232.96	•			atuity		\$0.0
				Grand			\$258.9
				Avg Pa	yrate		\$23.4
William	ns, Bailey						
Job Title	, ,			Pav	Rate	Hours	Tota
					Total	0.00	\$0.0
	Sales: \$0.00			Claimed	Tips		\$0.0
	Tips: \$0.00				tuity		\$0.0
				Grand T			\$0.0
				Avg Pay	rate		\$0.0
	ns, Donna						
Job Title				Pay		Hours	Tota
					Total	0.00	\$0.0
	Sales: \$0.00 Tips: \$0.00			Claimed Tips Gratuity Grand Total		\$0.0 \$0.0	
							\$0.0
				Avg Pay			\$0.0
			Summar				70.00
Job Code		Total Hours	Regular Hours	•	Total Pav	Regular Pay	OT Pav
	C - Server	166.06	166.06	0.00	\$390.24	\$390.24	\$0.00
	ontra cte d	143.48	137.59	5.89	\$1,120.66	\$1,015.02	\$105.64
	Cabins	201.47	192.40	9.08	\$0.00	\$0.00	\$0.00
	C - Cook	244.52	177.44	67.08	\$2,668.39	\$1,771.20	\$897.19
	Dishwasher	38.31	38.31	0.00	\$459.70	\$459.70	\$0.00
	oor Manager	7.15	7.15	0.00	\$0.00	\$0.00	\$0.00
	C - Cashier OC - Host	2.10	2.10 100.38	0.00	\$0.00	\$0.00	\$0.00
	rc - 1105 l	100.38	100.58	0.00	\$1,111.85	\$1,111.85	\$0.00
Ü	Chaco	12 77	12 77	0.00	ሩስ ሰስ	¢ስ ስስ	50 00
	Chase neral Manager	12.77 44.85	12.77 44.85	0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00